© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

0338218182 HANSARONDA - Diezova baterie

EAN: 4015474616646
static.hansa.com/0338218182

Nahradni dily
SP03382131
Nazev Kod

1 Paka Chrom 59910346
11 Sroub, M5x8, SW2.5 59904755
12 Kluzné pouzdro (osazené) 59904778
13 Plug, hot/cold 59906705
2 Krytka Uslechtila mosaz 59910334
2 Krytka Chrom 59910329
3 Upeviovaci Sroub, M50x1, SW45 59904890
4 Kartuse, 4.8 eco 59904601
41 Hot water limiter 59904759
51 Support ring Bila 59910386
5.1 Support ring Moka 59910385
51 Support ring Chrom 59910384
52 0-krouzek, d 38x3.5 59910236
53 Tésnéni, 48x33.5%2 59902283
5.4 KrouZek 59904893
55 Upeviiovaci desticka 59910008
5.6 Nastavec-sada 59902707
5.6 Sroub, R1 59904894
57 0-krouzek, 47.29x2.62 59906351
6 Vytokové rameno Chrom 59910391
6.1 Priichodka 59910630
71 Zpétny ventil 59905714
8 Aerator, M24x1 STD HC B Chrom 59905830
8 Aerator, M24x1 Uslechtila mosaz 59906724
8.1 Aerator, M22/M24 B 59905901
9 Hadice, L=1500, G1/2-M14x1 Chrom 59905067
9.1 0-krouzek, d 7.65x1.78 59902337
9.2 Tésnéni, 18.5/12x2 59905070
93 Counterbalance 59905891
9.4 Sroubeni 59910801
10 Ru¢ni sprcha Bila 59910397
10 Ruéni sprcha Chrom 59910396
NI Zpétny ventil, M16x1/M14x1 59913418

1


https://static.hansa.com/0338218182

